
GEBERIT FLOWFIT
METAL FITTINGS

ENVIRONMENTAL
PRODUCT DECLARATION
IN ACCORDANCE WITH EN 15804 + A1



1 General information

1 General information

1.1 Note on this document
The original document was written in German. All other language versions are translations of the original
document.

1.2 Declaration holder

Geberit International AG
Schachenstrasse 77
CH-8645 Jona
Tel. +41 55 221 6300
sustainability@geberit.com
www.geberit.com

Geberit is one of the pioneers when it comes to sustainability in the sanitary
industry. Sustainable has formed an integral component of the corporate
strategy for around 30 years. The Geberit Group has a group certificate in
accordance with ISO 9001 (quality), ISO 14001 (environment) und ISO
45001 (occupational health and safety). Life cycle assessments were
produced for key products from an early stage and Ecodesign has been an
integral component of the product development process since 2008.
You can find current and comprehensive information on sustainability in the
current annual report or at www.geberit.com/nachhaltigkeit.

1.3 Declared product
This declaration applies to all Geberit FlowFit metal fittings, which have a base unit made of lead-free
gunmetal or silicon bronze (stainless steel fittings are not covered by this environmental product declaration),
and no special components such as a copper pipe, mounting plate, insulation box or valves, see chapter
"Range and conversion factors", page 4. A piece of Geberit FlowFit elbow tap connector 90° made of
lead-free gunmetal (Lead-free gunmetal (CuSn4Zn2PS)) with an outer diameter of d20 mm (art. no.
620.811.00.1) has been applied as a reference article.

1.4 Verification and validity
Programme holder: Geberit International AG
Declaration number: GEB_EPD_9007206810735115
Validity: 01/11/2020 to 30/10/2025
Data calculated by: Quantis, www.quantis-intl.com

Environmental declarations for construction products may not be comparable if they do not comply with the
EN 15804. It is only possible to make a limited comparison of life cycle assessment results which are based
on different background databases.

The European standard EN 15804 + A1 is used as the core PCR.
Independent verification of the declaration and information in accordance with

EN ISO 14025:2010
☐ Internal ⊠ External

Dr. Frank Werner

2 GEB_EPD_9007206810735115 © 12-2020
230.149.00.1 (00)



2 Product

2 Product

2.1 Description and application purpose
Geberit FlowFit is a supply system consisting of pipes and fittings, which are connected to permanently
leakproof pipes by means of lateral pressing.

The system pipes are multilayer pipes made of plastic and aluminium (Geberit system pipe ML) or
polybutene pipes (Geberit system pipe PB). The pipes are connected by means of plastic fittings. Metal
fittings are used to connect to various connections. A separate environmental product declaration has been
created for each of these system elements.

Application purpose:
• for drinking water installations within buildings (Geberit system pipe PB and Geberit system pipe ML)
• for heating and cooling water installations within building structures (Geberit system pipe ML)

2.1.1 Geberit FlowFit metal fittings
The Geberit FlowFit metal pressfitting connects the Geberit system pipes ML and PB to other connections by
means of a thread. The pressing procedure permanently deforms the pressing unit (collet and pressing
clamp) and pipe and presses them onto the fitting body so that they form a leakproof connection. During the
pressing procedure, the pressing indicator is detached and is disposed of as part of the packaging, together
with the protective caps, in accordance with the regulations in force in the country of installation.

1 Fitting body (lead-free gunmetal)
2 Corrosion barrier washer (PE-HD)
3 O-ring (EPDM)
4 Collet (PA)
5 Pressing clamp (stainless steel)
6 Pressing indicator and tool guide rim for pressing jaws (POM)
7 Protective cap (PE-HD)

For the composition by raw materials, see chapter "Product composition", page 10

9007206810735115 © 12-2020
230.149.00.1 (00)

3



2 Product

2.2 Range and conversion factors
The reference product for this declaration is the Geberit FlowFit elbow tap connector 90° made of lead-free
gunmetal with an outer diameter of d20 mm (art. no. 620.811.00.1). This article was chosen as a reference
article because it is the best-selling article and, with an outer diameter of 20 mm, the solution for the best-
selling pipe diameter. The life cycle assessment results in chapter 4 can be converted to the other sales
articles listed using the net weight (without packaging and protective cap) with the conversion factor in
accordance with the following table.

DN d [mm] L [cm] Net weight [g/
item]

Conversion
factor

Geberit FlowFit
T-piece with female thread

620.150.00.1 12 / 15 / 12 16 11.9 150 0.80
620.151.00.1 15 20 11.9 165 0.88
620.152.00.1 20 / 15 / 20 25 11.9 213 1.14
620.153.00.1 25 / 15 / 25 32 13 335 1.79
620.154.00.1 32 / 15 / 32 40 13.4 463 2.48
620.155.00.1 40 / 15 / 40 50 18.5 1030 5.50
620.156.00.1 50 / 15 / 50 63 20.5 1725 9.21
620.157.00.1 20 / 15 / 15 25 11.9 194 1.04
620.162.00.1 20 25 12.8 226 1.21
620.163.00.1 25 / 20 / 25 32 13.4 338 1.80
620.166.00.1 50 / 25 / 50 63 22 1853 9.90
620.173.00.1 25 32 14.4 393 2.10
620.174.00.1 32 / 25 / 32 40 14.7 549 2.93
620.175.00.1 40 / 25 / 40 50 20.2 1142 6.10
620.176.00.1 50 63 24.6 2362 12.62
620.177.00.1 65 / 50 / 65 75 21.6 2436 13.01
620.184.00.1 32 40 15.4 636 3.40
620.185.00.1 40 50 22 1301 6.95

4 GEB_EPD_9007206810735115 © 12-2020
230.149.00.1 (00)



2 Product

DN d [mm] L [cm] Net weight [g/
item]

Conversion
factor

Geberit FlowFit adapter
with male thread

620.300.00.1 12 / 10 16 6.1 58 0.31
620.301.00.1 15 / 10 20 6.1 69 0.37
620.302.00.1 20 / 15 25 6.4 100 0.54
620.303.00.1 25 32 7.5 212 1.13
620.304.00.1 32 / 25 40 7.4 321 1.71
620.305.00.1 40 50 10 691 3.69
620.306.00.1 50 63 11 1125 6.01
620.307.00.1 65 75 11.4 1491 7.96
620.310.00.1 12 / 15 16 6.1 71 0.38
620.311.00.1 15 20 6.4 85 0.46
620.312.00.1 20 25 6.8 127 0.68
620.313.00.1 25 / 32 32 7.2 259 1.38
620.314.00.1 32 40 7.4 324 1.73
620.315.00.1 40 / 50 50 10.4 726 3.88
620.316.00.1 50 / 65 63 11.3 1224 6.54
620.320.00.1 12 / 20 16 6.5 96 0.51
620.321.00.1 15 / 20 20 6.5 104 0.56
620.322.00.1 20 / 25 25 6.6 162 0.87
620.324.00.1 32 / 40 40 7.3 331 1.77

Geberit FlowFit adapter
with female thread

620.400.00.1 12 / 10 16 5.1 53 0.28
620.401.00.1 15 / 10 20 5.3 65 0.35
620.402.00.1 20 25 5.7 112 0.60
620.403.00.1 25 32 6.4 200 1.07
620.404.00.1 32 / 25 40 6.4 317 1.69
620.405.00.1 40 50 9.3 674 3.60
620.406.00.1 50 63 10.2 1148 6.13
620.407.00.1 65 75 10.7 1345 7.18
620.410.00.1 12 / 15 16 5.6 78 0.42
620.411.00.1 15 20 5.5 82 0.44
620.412.00.1 20 / 25 25 6.1 172 0.92
620.413.00.1 25 / 32 32 6.7 228 1.22
620.414.00.1 32 40 6.7 251 1.34
620.415.00.1 40 / 50 50 9.7 685 3.66
620.416.00.1 50 / 65 63 10.7 1117 5.97
620.420.00.1 12 / 20 16 5.8 93 0.50
620.421.00.1 15 / 20 20 5.8 103 0.55
620.424.00.1 32 / 40 40 6.7 297 1.59

Geberit FlowFit tap
connector, straight, with
male thread

619.471.22.1 15 20/R 1/2" 85 0.46
619.481.22.1 15 20/R 3/4" 104 0.56
619.472.22.1 20 25/R 1/2" 100 0.54
619.482.22.1 20 25/R 3/4" 127 0.68

9007206810735115 © 12-2020
230.149.00.1 (00)

5



2 Product

DN d [mm] L [cm] Net weight [g/
item]

Conversion
factor

Geberit FlowFit tap
connector, straight, with
union nut

619.490.22.1 12 16 6.4 74 0.40
619.491.22.1 15 20 6.4 93 0.50
619.492.22.1 20 25 6.5 126 0.67

Geberit FlowFit bend
adapter 90° with male
thread

620.502.00.1 20 25 6 145 0.77
620.503.00.1 25 32 6.8 225 1.20
620.504.00.1 32 40 7.3 365 1.95
620.505.00.1 40 50 10.4 786 4.20
620.506.00.1 50 63 11.7 1353 7.23
620.510.00.1 12 / 15 16 5.7 82 0.44
620.511.00.1 15 20 6.1 111 0.59
620.512.00.1 20 / 25 25 6.3 167 0.89
620.520.00.1 12 / 20 16 6 115 0.61
620.521.00.1 15 / 20 20 6 114 0.61

Geberit FlowFit bend
adapter 90° with female
thread

620.532.00.1 20 25 6.5 186 0.99
620.533.00.1 25 32 7.4 281 1.50
620.534.00.1 32 40 8.1 426 2.27
620.535.00.1 40 50 11.2 897 4.79
620.536.00.1 50 63 12.8 1406 7.51
620.540.00.1 12 / 15 16 6.1 110 0.59
620.541.00.1 15 20 6.1 122 0.65
620.542.00.1 20 / 25 25 6.9 227 1.21
620.550.00.1 12 / 20 16 6.3 163 0.87
620.551.00.1 15 / 20 20 6.5 156 0.84

Geberit FlowFit adapter to
Geberit Mepla

620.090.00.1 12 16 7.8 62 0.33
620.091.00.1 15 20 7.8 82 0.44
620.092.00.1 20 25 7.8 95 0.51
620.093.00.1 25 32 8.8 197 1.05
620.094.00.1 32 40 8.8 267 1.43
620.095.00.1 40 50 14 810 4.33
620.096.00.1 50 63 15 1371 7.32
620.097.00.1 65 75 15 1646 8.79

Geberit FlowFit adapter to
Geberit Mapress

620.230.00.1 12 / 10 16 6.8 47 0.25
620.240.00.1 12 16 6.9 52 0.28
620.231.00.1 15 / 12 20 6.9 63 0.34
620.241.00.1 15 20 6.9 69 0.37
620.242.00.1 15 / 20 20 7 77 0.41
620.232.00.1 20 25 7 91 0.49
620.233.00.1 25 32 7.7 147 0.78
620.234.00.1 32 40 8 213 1.14
620.235.00.1 40 50 12.8 580 3.10
620.236.00.1 50 63 13.8 952 5.09

6 GEB_EPD_9007206810735115 © 12-2020
230.149.00.1 (00)



2 Product

DN d [mm] L [cm] Net weight [g/
item]

Conversion
factor

Geberit FlowFit adapter
with union nut

620.620.00.1 12 16 6.2 54 0.29
620.630.00.1 12 / 15 16 6.4 74 0.40
620.640.00.1 12 /20 16 5.9 83 0.45
620.650.00.1 12 / 25 16 6.2 132 0.70
620.660.00.1 12 16 152 0.81
620.621.00.1 15 / 12 20 6.2 66 0.35
620.631.00.1 15 20 6.4 84 0.45
620.641.00.1 15 / 20 20 6.5 104 0.56
620.651.00.1 15 / 25 20 6.3 146 0.78
620.672.00.1 15 / 30 20 6.4 159 0.85
620.661.00.1 15 / 32 20 6.6 198 1.06
620.671.00.1 15 / 40 20 6.2 286 1.53
620.622.00.1 20 / 15 25 6.4 104 0.55
620.632.00.1 20 25 6.5 126 0.67
620.642.00.1 20 / 25 25 7.3 191 1.02
620.652.00.1 20 / 32 25 6.8 216 1.15
620.662.00.1 20 / 40 25 7.1 323 1.72
620.673.00.1 20 / 50 25 6.3 426 2.27
620.623.00.1 25 / 20 32 7 165 0.88
620.633.00.1 25 32 7.8 231 1.23
620.643.00.1 25 / 32 32 7.4 269 1.44
620.653.00.1 25 / 40 32 7.6 362 1.94
620.663.00.1 25 / 50 32 7.5 571 3.05
620.624.00.1 32 40 7.9 319 1.70
620.634.00.1 32 40 8 422 2.25
620.644.00.1 32 / 50 40 7.8 828 4.42
620.654.00.1 32 / 65 40 7.7 729 3.89
620.625.00.1 40 50 10.6 700 3.74
620.635.00.1 40 50 11.5 890 4.76
620.645.00.1 40 / 50 50 11 925 4.94
620.655.00.1 40 / 50 50 10.8 1043 5.57
620.665.00.1 40 / 50 50 10.9 1008 5.38
620.675.00.1 40 / 65 50 10.7 1266 6.76
620.626.00.1 50 / 50 63 11.5 1111 5.94
620.636.00.1 50 / 50 63 11.6 1221 6.52
620.646.00.1 50 / 65 63 11.8 1622 8.67
620.656.00.1 50 / 65 63 11.5 1581 8.45
620.560.00.1 12 16 5.4 132 0.71
620.561.00.1 15 20 5.4 138 0.74
620.562.00.1 20 25 5.5 256 1.37

9007206810735115 © 12-2020
230.149.00.1 (00)

7



2 Product

DN d [mm] L [cm] Net weight [g/
item]

Conversion
factor

Geberit FlowFit screw
connection

620.570.00.1 12 16 11.5 137 0.73
620.571.00.1 15 20 11.7 156 0.83
620.572.00.1 20 25 12.1 228 1.22
620.573.00.1 25 32 13.9 373 1.99
620.574.00.1 32 40 13.9 519 2.77
620.575.00.1 40 50 19.1 1172 6.26
620.576.00.1 50 63 20.5 1960 10.47

Geberit FlowFit adapter
union with male thread

620.580.00.1 12 / 15 16 8.7 125 0.67
620.581.00.1 15 20 9.3 143 0.76
620.591.00.1 15 / 20 20 9.4 143 0.76
620.582.00.1 20 25 10.2 250 1.33
620.583.00.1 25 32 10.5 385 2.06
620.593.00.1 25 / 32 32 10.8 385 2.06
620.584.00.1 32 40 11.3 584 3.12
620.594.00.1 32 / 40 40 11.3 596 3.18
620.585.00.1 40 50 14.9 1250 6.67
620.595.00.1 40 / 50 50 14.9 1420 7.59
620.586.00.1 50 63 15.3 2262 12.08
620.596.00.1 50 / 65 63 15.5 2262 12.08

Geberit FlowFit adapter
union with female thread

620.600.00.1 12 / 15 16 7.9 125 0.67
620.601.00.1 15 20 8.5 143 0.76
620.602.00.1 20 25 9.2 250 1.33
620.603.00.1 25 32 9.4 385 2.06
620.613.00.1 25 / 32 32 10.6 385 2.06
620.604.00.1 32 40 10.9 585 3.12
620.614.00.1 32 40 11.2 596 3.18
620.605.00.1 40 50 13.8 1081 5.77
620.615.00.1 40 / 50 50 14.9 1521 8.12
620.606.00.1 50 63 13.3 2370 12.66

Geberit FlowFit adapter
union with clamping ring

620.680.00.1 12 / 10 16 5.8 128 0.68
620.690.00.1 12 16 5.8 117 0.62
620.681.00.1 15 / 12 20 6 141 0.76

Geberit FlowFit elbow
adapter with clamping ring
union

620.700.00.1 12 / 10 16 5.5 157 0.84
620.710.00.1 12 16 5.5 141 0.75
620.701.00.1 15 / 12 20 5.7 156 0.83

Geberit FlowFit adapter
with screw connection to
PEX pipes

620.730.00.1 12 16 7.8 167 0.89
620.731.00.1 15 20 7.8 173 0.92
620.732.00.1 20 25 8 269 1.44

Geberit FlowFit pipe end
plug

620.740.00.1 12 16 3.9 34 0.18
620.741.00.1 15 20 3.9 46 0.24
620.742.00.1 20 25 3.9 66 0.35

Geberit connection nipple
for manifold

620.330.00.1 12 / 20 16 6.1 70 0.37
620.331.00.1 15 / 20 20 6.5 90 0.48

8 GEB_EPD_9007206810735115 © 12-2020
230.149.00.1 (00)



2 Product

DN d [mm] L [cm] Net weight [g/
item]

Conversion
factor

Geberit FlowFit flange
619.616.00.1 65 75 11.3 1798 9.61
619.617.00.1 65 75 11.3 1828 9.76

Geberit FlowFit elbow tap
connector 90°

620.750.00.1 12 16 3.6 141 0.76
620.751.00.1 15 20 3.6 141 0.75
620.760.00.1 12 16 3.6 154 0.82
620.761.00.1 15 20 3.6 151 0.81
620.810.00.1 12 16 5.2 174 0.93
620.811.00.1 15 20 5.2 187 1.00
620.821.00.1 15 20 5.2 231 1.23
620.802.00.1 20 25 5.2 213 1.14
620.770.00.1 12 16 7.8 241 1.29
620.771.00.1 15 20 7.8 257 1.37
620.800.00.1 12 16 5.2 185 0.99
620.801.00.1 15 20 5.2 193 1.03

Geberit FlowFit double
elbow tap connector 90°

620.830.00.1 12 / 15 / 12 16 5.2 316 1.69
620.831.00.1 12 / 15 / 15 16 5.2 331 1.77
620.832.00.1 15 / 15 / 20 20 5.2 332 1.77
620.841.00.1 15 / 15 / 12 20 5.2 364 1.94
620.842.00.1 20 / 15 / 15 25 5.2 332 1.77
620.851.00.1 15 20 5.2 352 1.88
620.852.00.1 20 / 15 / 20 25 5.2 326 1.74

Geberit FlowFit corner
elbow connector 90°

620.881.00.1 15 20 3.7 256 1.37
620.921.00.1 15 20 5.3 299 1.60

Geberit FlowFit elbow tap
connector 90° for
concealed cistern

620.790.00.1 12 16 6.8 145 0.78
620.791.00.1 15 20 7 166 0.89
620.890.00.1 12 16 6.8 230 1.23
620.891.00.1 15 20 6.8 243 1.30

Geberit FlowFit 
T-elbow tap connector 90°

620.951.00.1 15 20 3.6 333 1.78
620.981.00.1 15 20 13.4 374 2.00

Geberit FlowFit long
coupling

620.020.00.1 12 16 20 294 1.57
620.021.00.1 15 20 20 385 2.06
620.022.00.1 20 25 20 494 2.64
620.023.00.1 25 32 22.2 859 4.59
620.024.00.1 32 40 23.5 1390 7.43
620.025.00.1 40 50 34 2477 13.23

9007206810735115 © 12-2020
230.149.00.1 (00)

9



3 Life cycle assessment – calculation criteria

3 Life cycle assessment – calculation criteria

3.1 System boundaries
This environmental product declaration is a Cradle-to-gate-with-options declaration including transport and
waste processing during the disposal phase. The use and demolition are not considered.

Product Construction process Use End-of-life

Raw material Transport to
the

manufacturer

Manufac-
turing

Distribution Installation
within the
building

Demolition Transport to
waste
processing

Reuse,
recovery,
recycling

Disposal

A1 A2 A3 A4 A5 B1-B7 C1 C2 C3 C4

x x x x x – – x x x

x Considered/relevant
– Not considered/not relevant

3.2 Product composition
The reference article consists of the following raw materials:

Raw material Quantity [g]
Plastics 8
Elastomers 0,1
Lead-free gunmetal 171
Stainless steel 8
Total 187
Recycled content (post-consumer) 21 %

The packaging includes: 7 g of cardboard and 4 g of plastic (including protective caps).

The articles shown in this environmental product declaration do not contain PVC or halogen compounds.

List of substances contained in the product, which are included in the "Candidate List of Substances of Very
High Concern for Authorisation” if the content exceeds the limits for their registration by the European
Chemicals Agency:
• none

3.3 Assumptions and background information
(A1) For the raw material supply, the entire raw and recycled material input was modelled using corres-
ponding data, including the losses of 1–6 % relating to material and production. Secondary materials
comprise those environmental influences that arise from the collection of waste and from recycling. The
following recycled content was recorded: 22 % for stainless steel, brass and gunmetal and 10 % for
cardboard.

(A2) For transportation from suppliers in Europe and Asia to Geberit, standard transport distances were
assumed for each country and load factors contained in the background data were used. Class Euro 5 diesel
lorries are used as the means of transport within Europe. Intercontinental transportation consists of freighters
and subsequent local distribution by lorry.

(A3) Products are manufactured in one or more Geberit factories within Europe, which are all certified in
accordance with ISO 9001, 14001 and 45001. A current ISO certificate can be downloaded online. All
suppliers sign the Geberit suppliers' code of conduct and undergo a detailed selection and inspection
procedure.

The electricity consumption plays an important role in in-house production. Average values from the
respective factories and a country-specific combination of power sources are assumed.

10 GEB_EPD_9007206810735115 © 12-2020
230.149.00.1 (00)



3 Life cycle assessment – calculation criteria

The production and provision of packaging materials and means of production (technical lubricants) were
also modelled in phase A3. The consumption of additional auxiliary materials and water is negligible.
Production waste is taken into account. However, the scrap flows associated with the production flows are
not listed in A3 as they are handled with a conservative allocation factor of 0.

Background data from the ecoinvent database was used for the third-party components.

(A4) Transportation from Geberit to customers within Europe is done by logistics partners through the
modern, efficient central warehouse in Pfullendorf (DE), which is certified in accordance with ISO 9001,
14001 and 45001. Class Euro 5 and 6 lorries are mainly used for the transport. Distribution in countries
outside Europe is mainly done by means of freighters together with lorries to distribute the products locally.
In the main market in Europe, the average transport distance is 650 km and the loading weight is 8 t/lorry.

(A5) The installation is easy and needs no additional auxiliary materials and practically no energy. The
packaging waste generated can be completely reused or converted into energy in the respective country
depending on the disposal infrastructure.

100 % of cardboard and paper is recycled. The energy is recovered from plastic in the packaging in an incin-
eration plant. The assumed energy content per kg is 43.9 MJ for plastics, 30.2 MJ for elastomers and
16.9 MJ for cardboard and paper. The energy efficiency is 42 % for heat and 14 % for electricity.

(B1-B7) No further statements are made concerning the use phase.

(C1-C4) Waste that is reused is removed from the product system without causing any environmental impact
from the first life cycle. No credits are accounted for cases where production of such waste was avoided.
With respect to disposal, it has been assumed that all waste is collected once it has been taken from the
building site and is sorted appropriately. 100 % of all metal parts are recycled. The plastic parts are incin-
erated (with the assumptions already described). A transport distance of 20 km is assumed for both disposal
options.

3.4 Data basis and data quality
This environmental product declaration is based on a comprehensive life cycle assessment according to
ISO 14044:2006. A detailed background report, which meets the requirements of EN 15804, is used for
verification. Inventory data is based predominantly on data that was provided by Geberit International AG in
2020. ecoinvent data (version 3.4, 2017, www.ecoinvent.org) and the system model "cut-off by classification"
were used for all further data. The quality of the data can therefore be considered to be good.

9007206810735115 © 12-2020
230.149.00.1 (00)

11



4 Life cycle assessment – results

4 Life cycle assessment – results
The following tables contain the results based on a piece of the declared product.

4.1 Environmental impacts
Unit A1 A2 A3 A4 A5 C1 C2 C3 C4

Global warming (GWP) kg CO2-eq 8.61E-01 1.44E-02 3.07E-01 1.11E-02 1.28E-03 0 3.31E-04 3.00E-02 0

Ozone depletion (ODP) kg CFC-11-eq 4.09E-08 2.57E-09 1.66E-08 2.19E-09 1.31E-12 0 6.51E-11 5.78E-11 0

Photochemical ozone creation
(POCP) kg C2H4-eq 1.86E-03 5.67E-06 3.35E-04 1.77E-06 1.90E-09 0 5.27E-08 8.40E-08 0

Acidification (AP) kg SO2-eq 4.73E-02 1.62E-04 8.10E-03 3.59E-05 1.18E-07 0 1.07E-06 4.11E-06 0

Eutrophication (EP) kg PO4
3-eq 3.30E-02 1.97E-05 5.54E-03 7.93E-06 1.02E-07 0 2.36E-07 3.06E-06 0

Depletion of abiotic resources
(ADP), fossil fuels MJ 9.22E+00 2.25E-01 3.39E+00 1.86E-01 1.54E-04 0 5.51E-03 5.60E-03 0

Depletion of abiotic resources
(ADP), elements kg Sb-eq 5.70E-04 1.66E-08 3.59E-05 2.17E-08 1.51E-11 0 6.45E-10 6.06E-10 0

A1 Raw material A5 Installation
A2 Transport to the manufacturer C2 Transport to waste processing
A3 Manufacturing C3 Reuse, recovery, recycling
A4 Distribution C4 Disposal

4.2 Resource use
Unit A1 A2 A3 A4 A5 C1 C2 C3 C4

Use of primary energy, renewable,
w/o raw material use MJ 1.69E+00 4.40E-03 4.76E-01 3.16E-03 2.78E-06 0 9.38E-05 1.56E-04 0

Use of primary energy, renewable,
raw material use MJ 0 0 1.10E-01 0 0 0 0 0 0

Use of primary energy, renewable,
total MJ 1.69E+00 4.40E-03 5.86E-01 3.16E-03 2.78E-06 0 9.38E-05 1.56E-04 0

Use of primary energy, non-
renewable, w/o raw material use MJ 9.69E+00 2.33E-01 3.68E+00 1.91E-01 1.57E-04 0 5.67E-03 5.76E-03 0

Use of primary energy, non-
renewable, raw material use MJ 3.59E-01 0 1.78E-01 0 0 0 0 0 0

Use of primary energy, non-
renewable, total MJ 1.00E+01 2.33E-01 3.86E+00 1.91E-01 1.57E-04 0 5.67E-03 5.76E-03 0

Use of secondary materials kg 3.95E-02 0 0 0 0 0 0 0 0

Use of renewable secondary fuels MJ 0 0 0 0 0 0 0 0 0

Use of non-renewable secondary
fuels MJ 0 0 0 0 0 0 0 0 0

Use of net fresh water m3 2.19E-01 4.09E-06 4.45E-02 3.34E-04 1.59E-06 0 9,92E-06 1.78E-04 0

4.3 Output flows and waste
Unit A1 A2 A3 A4 A5 C1 C2 C3 C4

Hazardous waste kg 1.72E-04 1.19E-07 6.20E-06 9.14E-08 1.32E-09 0 2.71E-09 2.39E-08 0

Radioactive waste kg 2.22E-05 1.49E-06 1.00E-05 1.27E-06 2.94E-10 0 3.76E-08 1.31E-08 0

Non-hazardous waste kg 2.65E-01 1.11E-02 7.99E-02 1.57E-02 2.11E-05 0 4.65E-04 6.60E-04 0

Components for re-use kg 0 0 0 0 0 0 0 0 0

Materials for recycling kg 0 0 0 0 6.48E-03 0 0 1.79E-01 0

Materials for energy recovery kg 0 0 0 0 0 0 0 0 0

Exported energy – electricity MJ 0 0 0 0 2.75E-03 0 0 6.97E-02 0

Exported energy – heat MJ 0 0 0 0 8.26E-03 0 0 2.09E-01 0

12 GEB_EPD_9007206810735115 © 12-2020
230.149.00.1 (00)



Geberit International AG
Schachenstrasse 77, CH-8645 Jona

documentation@geberit.com
www.geberit.com

23
0.
14
9.
00
.1

9007206810735115 © 12-2020
230.149.00.1 (00)

13


	1 General information
	1.1 Note on this document
	1.2 Declaration holder
	1.3 Declared product
	1.4 Verification and validity

	2 Product
	2.1 Description and application purpose
	2.1.1 Geberit FlowFit metal fittings

	2.2 Range and conversion factors

	3 Life cycle assessment – calculation criteria
	3.1 System boundaries
	3.2 Product composition
	3.3 Assumptions and background information
	3.4 Data basis and data quality

	4 Life cycle assessment – results
	4.1 Environmental impacts
	4.2 Resource use
	4.3 Output flows and waste


